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Solutions

sin(θ) = 24/26 = 12/13

sin(θ) = 2/5.4 = 10/27 sin(θ) = 11/17

sin(θ) = 8.9/12 = 89/120

cos(θ) = 10/26 = 5/13
tan(θ) = 24/10 = 12/5

cos(θ) = 13/17cos(θ) = 5/5.4 = 25/27

cos(θ) = 8/12 = 2/3

tan(θ) = 11/13tan(θ) = 2/5

tan(θ) = 8.9/8 = 89/80

SOHCAHTOA
sin(θ) = opp/hyp
cos(θ) = adj/hyp

tan(θ) = opp/adj
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sin(A) = 5.2/9 
  = 0.5778

cos(A) = 7.3/9 
   = 0.8111

tan(A) = 5.2/7.3 
   = 0.7123

sin(A) = 9/11.4
  = 0.7895

cos(A) = 7/11.4 
   = 0.6140

tan(A) = 9/7 
   = 1.2857

sin(A) = 11/14.9
  = 0.7383

cos(A) = 10/14.9 
   = 0.6711

tan(A) = 11/10 
   = 1.1000

SOHCAHTOA

sin(θ) = opp/hyp
cos(θ) = adj/hyp tan(θ) = opp/adj

b)  0.7071
d)  0.5000
f)  1.0000
h)  0.1219

Recall:

Obviously, TAN could be SIN or COS depending 
upon the information given in the question.
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b) A = 51Ο

d) θ = 70Ο

f) M = 78Ο

h) θ = 52Ο

j) X = 89Ο

l) J = 60Ο

Recall: Obviously, TAN could be 
SIN or COS depending 
upon the information given 
in the question.

a) cos(71) = x/114
    114cos(71) = x
    37.1 mm = x

g) cos(18) = 6/x
    xcos(18) = 6
    x = 6/cos(18)
    x = 6.3 cm

e) cos(47) = x/12
    12cos(47) = x
    8.2 cm = x

c) cos(54) = x/13
    13cos(54) = x
    7.6 cm = x

cos(θ) = adj/hyp
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d) cos(29) = x/15
    15cos(29) = x
    13.1 cm = x

f)  cos(35) = 10/x
    xcos(35) = 10
    x = 10/cos(35)
    x = 12.2 cm

h) cos(51) = 18/x
    xcos(51) = 18
    x = 18/cos(51)
    x = 28.6 cm

b) cos(15) = 8.4/x
    xcos(15) = 8.4
    x = 8.4/cos(15)
    x = 8.7 cm

cos(θ) = adj/hyp

a) X

YZ

16 cm

    cos(Y) = 11/16
    Y = cos­1(11/16)
    Y = 47Ο     cos(43) = y/16

    16cos(43) = y
    11.7 cm = y

b) Solving a triangle means to 
find all the missing information.

<X = 180 ­ 90 ­ 47
<X = 43Ο

X

YF

cos(θ) = adj/hyp

11 cm

16 cm

11 cm

y

Note: If you use the Pythagorean theorem to solve 
for y then you will get 11.6 cm as your answer.
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10 m 21Ο
x

cos(21) = x/10
    10cos(21) = x
    9.3 m = x

cos(θ) = adj/hyp

Draw a sketch to help you

The side adjacent side to the 21Ο angle is 9.3 metres long.

cos(θ) = adj/hyp
The triangle is isosceles because WX = WY.
Therefore <X = <Y.
Length XY is split in half by the perpendicular 
line from W dropping down to the base.

W

Y

5 cm

4 cm

    
cos(Y) = 4/5

    Y = cos­1(4/5)
    Y = 37Ο

Therefore <X = 37Ο and 

<W = 180 ­ 37 ­ 37

  = 106Ο

The three answers are <X = 37Ο, <Y = 37Ο, and <W = 106Ο. 
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